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Discussion

1. Introduction
This paper discusses the relationship of TTT (time to trigger) and DRX period.
2. Discussion
According to the description in [1], UE can relax the measurement when DRX is used. For example: as depict in below table in 8.1.2.2.1.2 E-UTRAN intra frequency measurements when DRX is used in [1]. 
The UE shall be capable of performing RSRP measurements for [8] identified-intra-frequency cells, and the UE physical layer shall be capable of reporting measurements to higher layers with the measurement period of Tmeasure_intra.
Table 8.1.2.2.1.2-2: Requirement to measure FDD intrafrequency cells

	DRX cycle length (s)
	Tmeasure_intra (s) (DRX cycles)

	≤40
	0.2 (Note)

	[0.08]
	0.4 (5)

	[0.16]
	0.8 (5)

	[0.32]
	1.6 (5)

	[0.64]
	3.2 (5)

	[1.28]
	6.4 (5)

	[2.56]
	12.8 (5)

	Note: number of DRX cycle depends upon the DRX cycle in use


When the DRX period is increased, the requirement for L1 to report measurements to higher layer is relaxed, i.e. the Tmeasure_intra is increased too. We can also assume the UE L1 will not do measurement during DRX period for most cases. Therefore, we find the proposal in [2] can make some senses since the additional wait time is useless if the TTT can not be divided by the DRX period.
However, we also find some problems if we adopt the TTT=a*(DRX period). 

· If the DRX period configuration is changed, e.g., DRX period is changed from 80ms to 1280ms, and a=3, then it means the TTT will changed from 80*3=240ms to 1280*3=3840ms. The change is huge, that means the measurement report to the eNB will be delayed, we doubt it could meet the mobility performance requirement. 
· If the speed based scaling mechanism is used, the TTT will become shorter during high speed mode, how does it works with the equation TTT=a*(DRX period)? It will introduce additional complexity.
An alternative solution

Based on above consideration, we find an alternative solution, and maybe it can resolved the problems: the TTT is configured as normal; and when DRX is used, the UE can calculate the actual “time to trigger” by 
Floor(TTT/(DRX period)) * (DRX period)
For examples:

· Example1: if the configured TTT=200ms, DRX period =80ms, then the actual “time to trigger” used by the UE is 160ms since the Floor(TTT/(DRX period))=Floor(200/80)=2; and 2*(DRX period)=160ms. i.e., the L3 may trigger a report after two DRX periods.
· Example2: if the configured TTT=200ms, DRX period =1280ms, then the actual “time to trigger” used by the UE is 0ms since the Floor(TTT/(DRX period))= Floor(200/1280)=0; and 0*(DRX period)= 0ms. i.e., the L3 may trigger a report immediately when get the measurement from L1.
The advantage of this alternative is that it needs not any additional parameter in the measurement configuration; it has no confliction with the TTT speed scaling mechanism; and save the UE power by avoiding of the measurement report being triggered during DRX sleep period. 
Even though, we still think the normal solution has the advantages of simplicity. 
3. Conclusion
According to the discussion above, we think there are at least 3 alternatives for the configuration of TTT when DRX is used: 
· Keep TTT as the same value as normal configured

· TTT = a*(DRX period) as indicated in [2]
· TTT = Floor(TTT/(DRX period)) * (DRX period)
RAN2 could discuss and select one from above or get another solution.
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